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1 @ W : Mike, you my house this Saturday?
M : That sounds . Where do you ?
W : My house is the bank, to the church.
a bookstore the street.
M : Next the and a bookstore across
. | see. 1 | find it.
®@ M : Good morning. What | for you?
W: | oranges. How much is one orange?
M : Eight one.
W : I have 4000won.
M : Ok. Here your oranges.
W : Five oranges. thanks!
M : Wait! one more,
W : Wow! o)
® M : I help you, ?
W : Yes, please. | want go to Boston
How much is the ?

M : 32 dollars.

W : you are.

M : Okay. Here's your ticket, ma'am.
W : Thank you.

M : a trip.




@ M : What's the your computer?

W:lt's working last night.

I have a of work to do it.

M : you the service center?

W : Yes, but they are all

M : Oh, that's bad.

® W : 1 have a beak, and I like to fish my beak.
I am white.
I can , but I swim.
I like to fly the sea.
What 1?

® M : I'm glad to hear that you are Kenya.
My country is the of between

Somalia and Tanzania.

Kenya is famous its parks.

Only ten minutes the city of Nairobi,

visitors can see animals in the

There's no better place in the world to wild animal
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(D Habit is a second nature. @ It never rains but it pours.
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@ No news is good news. @ Seeing is believing.
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@D Kenya is in the Eastern Africa.
@ Kenya is the name of national parks.
@ Nairobi is the capital city of Kenya.

@ The national parks are not far from the capital city.
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Here's your MP3 player. @ 1 can fix the problem.
It's not working at all. @ Oh, that's too bad.
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